® 2

@ o



SN

(x+1) +cx? = 3x — 17} BE x ] Zhofl ths}e]
a, b, ol Hatol % 4] g Fot?

® -4 @ -2 G -1



3. oA - 227 4 5x - 62 A4 x- 22 U 1] Lhe A2

Do @1 ® 2 @ 3 ® 4



4. (1+30)(1-30) = (2-1)(3+i) & AASTA?

O 17-i @ 3+i ® 3-i @ 7+ ® 7-i



5.

o)A A] a2~ 2x -1 =09 TS A, B (T, A< B)et S, 34+ B
o] g7

@ 0 @ 1 ® 2 @ 3 ® 4



ol 1¢¥ u, H&

0°] g

A x?+ala-1)x+3a=

et ol

S

xoll o

6.

@ 1 ® 3

® o0



X2 -2x4+k+2=009]

%o o
o M
N ol

o N

® 2

@0

1



A 2x?—4x-3 =09 F TS a

@ 6

® 5

BT, o242 9] G2

@ 4

® 3



9. (x'-5x3+3x2 —dx+ 1)+ (x2 —x+ 1) A4t FAE o, K3t
U 2] 8] & FohH?

@ 4x2-6x+1 @ 4x2-7x+3 @ 4x2-4x+5

@ 4x%>-8x+2 ® 4x2-6x+7



10.

i

© @ O
=W o =

(k+1)(k+3)(k+4)
(k+1)(k+2)(k+3)

(k+ 1)(2k + 1)(3k + 2)

Sk + D(k+2)+ (k+1)(k+2) 72 AL

@ ék(k + 1) (k+2)

@ %k(k—s— 1) (k+2)(k+3)



11.

oFe % TR ¢ - 82 - 9 9] Q157 obdl R

® x*+3x2+x+3

@ x+3

@ x*+9



12, i+83 4P+ +- 4+ =a+bi LW, a+b 2 72?7 (Fa b

L Aa%)

@ o @1 ® 2 @ 3 ® 4



13, x=3+V3i,y=3-V3i &, x*+)3 o] & FoHH?

Do @ 10 ® 20 @ -10 ® -20



ol
N

—_—

[Ael e

@ 1

— |



15. x| W7t -3<xr<2 QW oAFS y = ¢ - 20— 1 9 ARG
M, A5G m oItk M+ m 9] 22

® 11 @ 12 ® 13 @ 14 ® 15



16. x(x—1)(x+1)-6=02] AlZ& F5}H?

D2 -1, -3 @ -2,1, -3 ® 2 1, -3
@ -2, —1+vV2i ® 2, —1++2i



17.

D a=-1
® a==+1
® gict

ok
oF
1o
%
il
A
o



ﬁ%t}]—?@&] X—y—27=3 --oee- @
x+2y-3z=-1------ ®

A2 oA ?

O -1,0,1 @ 5,-1,1

@ 4,-1,1 ® 4,-1,3

® 4,0,1



xo it 54 ax + b < bx + a°l 45} 2 &

@ a>b>0¢ o, = x> 10tk
@ a<b<0¥ M, sfi= it

® a=0b Y4, s= BE Aol
@ a=b A, = glch

® a=b A M, = x>1 0|t

26

©
—

al

A

29 (

o



OJAESA x2 +ax+b <09 72 < x <39 W, a + b O] G127

© -2 @ -1 ® 0 @1 ® 2



17F 2 <x<10] 2 of, A

9|

or
(@)
o A
vV N
-+
_—
2 =<
OCEEESY
+
2x = -~
T
Hlo s
T N
[
B S

@o



22, O f(0)E x+ 1 x4+ 22 RS WS A7 244 3, -1
oltt. o], f(x)E x* + 3x + 2 & U Wo] Y X|=?

D 2x+5 @ -3x ® 3x+6

@ 4x+7 ® 5x+8



f(x) = x* +ax+ bl ot f(x) -2+ x - 12 UHro
I f(x)+2€ x4+ 12 Wro] ok, o] uff, -2 9] 2



todla-21+al 9

S

= Ao a ol o

S

=
=

iy

m]

@ 2 ® 3 @ 4 ® 5

D1



¥ -2x2 +4x+3 =09 Al &
Y(1—7y)Q] 22
@ 4 ® 6 @ 8

a, B, vyt

® 10

ol

o,



ARG ¥ ax® +bx+4 =02 FF Zol 14+ V3i A W], a+b 9]
#H2? (FabeAsi=V-1)

@ -2 @ -1 @0 @1 ® 2



27. WA B =19 F TS 0Bt o, BT T & A= B
AE ALY
[1 ]
H7]
D +w+l1=0 © v =1
1
© w99+@:2 @ w005 4 (1004 — _,
1
@w18+w99+@:3
w
® Q,© @ © ® 0,6,.6

ONGRCNG) ® 0,6,



28.

R

Arty-1)(x-y-1)=0,52 -y = 0& FA| B=3
(x, y) & 70

O it @ 174 @ 271 @ 374 ® 47



29. OJAFHE y = 22 —2x -3 O] T} o]} y = 2x2 — 2mx + 1 9
L H T Y ofiEol| EASHES Sh= A4 m o ghe] Hel=?
® -3<m<3 @ -3m<1

@ -1<m<3 @ m<-1EE=m>1

® m<-1=E=m>3



30.



